

Topic

Mathematics

Submitted To:

Farhan Khalid

Submitted By:

M. Burhan Anjum

Reg/Roll No:

29020

Semester:

2nd

Morning ( ) Evening (✓)

Class:

BSc. EET



DEPARTMENT OF Electrical Engineering Tech.

GOVERNMENT COLLEGE UNIVERSITY, FAISALABAD.

## Exercise # 9.2

$$\underline{1} \quad \frac{dy}{dx} = \frac{x^2}{y(1+x^3)}$$

$$\int y dy = \int \frac{x^2}{1+x^3} dx$$

$$\frac{y^2}{2} = \frac{1}{3} \int \frac{3x^2}{1+x^3} dx$$

$$\frac{y^2}{2} = \frac{1}{3} \ln(1+x^3) + c$$

$$\frac{3y^2}{2} = \ln(1+x^3) + 3c$$

$$3y^2 = 2 \ln(1+x^3) + 6c$$

$$3y^2 = 2 \ln(1+x^3) + c' \underline{\text{Ans}}$$

.....

$$\underline{2} \quad \frac{dy}{dx} + y^2 \sin x = 0$$

$$\frac{dy}{dx} = -y^2 \sin x$$

$$\int \frac{dy}{y^2} = - \int \sin x dx$$

$$-\frac{y^{-1}}{1} = -(-\cos x) + c \Rightarrow -\frac{1}{y} = \cos x + c \underline{\text{Ans}}$$

$$\underline{3} \quad \frac{dy}{dx} = 1+x+y^2+xy^2$$

$$\frac{dy}{dx} = (1+x) + y^2(x+1)$$

$$\frac{dy}{dx} = (1+x)(1+y^2)$$

$$\int \frac{dy}{dx} = \int (1+x)(1+y^2)$$

$$\int \frac{1}{1+y^2} dy = \int (1+x) dx$$

$$\tan^{-1} y = x + \frac{x^2}{2} + C$$

$$2 \tan^{-1} y = 2x + x^2 + C'$$

$$\underline{4} \quad \frac{dy}{dx} = 2x^2 + y - x^2 y + xy - 2x - 2$$

$$= 2x^2 - 2x - 2 + y - x^2 y + xy$$

$$= 2(x^2 - x - 1) + y(-1 + x^2 - x)$$

$$\frac{dy}{dx} = (x^2 - x - 1)(2 - y)$$

$$\int \frac{1}{2-y} dy = \int (x^2 - x - 1) dx$$

$$-\int \frac{1}{2-y} dy = \int (x^2 - x - 1) dx$$

$$-\ln(2-y) = \frac{x^3}{3} - \frac{x^2}{2} - x + C$$

$$-\ln(2-y) = \frac{2x^3 - 3x^2 - 6x + 6C}{6}$$

$$-6 \ln(2-y) = 2x^3 - 3x^2 - 6x + 6C$$

$$\ln |2-y|^{-6} = (2x^3 - 3x^2 - 6x + 6c) \ln c$$

$$\ln |2-y|^{-6} = \ln e^{2x^3 - 3x^2 - 6x + 6c}$$

$$|2-y|^{-6} = e^{2x^3 - 3x^2 - 6x} \cdot e^{6c} \quad \underline{\text{Ans}}$$

5

$$(xy + 2x + y + 2) dx + (x^2 + 2x) dy = 0$$

$$[x(y+2) + (y+2)] dx + x(x+2) dy = 0$$

$$[(y+2)(x+1)] dx + x(x+2) dy = 0$$

$$\div \text{by } x(x+2)(y+2)$$

$$\frac{x+1}{x(x+2)} dx + \frac{1}{y+2} dy = 0$$

$$\int \frac{x+1}{x^2+2} dx + \int \frac{1}{y+2} dy = 0$$

$$\frac{1}{2} \int \frac{2x+2}{x^2+2} dx + \int \frac{dy}{y+2} = 0$$

$$\ln(y+2) = -\frac{1}{2} \ln(x^2+2) + \ln c$$

$$y+2 = \frac{e}{\sqrt{x^2+2}} \quad \underline{\text{Ans}}$$

$$\underline{6} \quad \operatorname{cosec} y \, dx + \sec x \, dy = 0$$

$\div$  by  $\operatorname{cosec} y \sec x$

$$\Rightarrow \frac{1}{\sec x} dx + \frac{1}{\operatorname{cosec} y} dy = 0$$

$$\Rightarrow \int \frac{1}{\sec x} dx + \int \frac{1}{\operatorname{cosec} y} dy = 0$$

$$\int \cos x \, dx + \int \sin y \, dy = 0$$

$$\sin x - \cos y = c \quad \underline{\text{Ans}}$$

$$\underline{7} \quad y(1+x)dx + x(1+y)dy = 0$$

let  $\div$  by  $xy$

$$\Rightarrow \frac{1+x}{x} dx + \frac{1+y}{y} dy = 0$$

$$\Rightarrow \int \left(\frac{1}{x} + 1\right) dx + \int \left(\frac{1}{y} + 1\right) dy = 0$$

$$\Rightarrow \ln x + x + \ln y + y = c$$

$$\Rightarrow x + y + \ln(xy) = c \quad \underline{\text{Ans}}$$

8

$$\frac{dy}{dx} + \sqrt{\frac{1-y^2}{1-x^2}} = 0$$

$$\frac{dy}{dx} = -\sqrt{\frac{1-y^2}{1-x^2}} \quad \text{if } |x| < 1, |y| < 1$$

$$\text{or } \int \frac{dy}{\sqrt{1-y^2}} = -\int \frac{dx}{\sqrt{1-x^2}}$$

$$\sin^{-1} y = -\sin^{-1} x + C$$

$$y = \sin(C - \sin^{-1} x) \quad \underline{\text{Ans}}$$

9

$$y\sqrt{1+x^2} dx + x\sqrt{1+y^2} dy = 0$$

÷ by  $xy$

$$\int \frac{\sqrt{1+x^2}}{x} dx + \int \frac{\sqrt{1+y^2}}{y} dy = 0$$

put  $\sqrt{1+x^2} = t$  , put  $\sqrt{1+y^2} = z$

$$1+x^2 = t^2 \quad , \quad 1+y^2 = z^2$$

$$2x dx = 2t dt \quad , \quad 2y dy = 2z dz$$

$$x dx = t dt \quad , \quad y dy = z dz$$

$$\int \frac{\sqrt{1+x^2}}{x^2} x dx + \int \frac{\sqrt{1+y^2}}{y^2} y dy = 0$$

$$\int \frac{t \cdot t dt}{t^2 - 1} + \int \frac{z \cdot z dz}{z^2 - 1} = 0$$

$$\int \frac{1}{t^2-1} dt + \int \frac{1}{z^2-1} dz = 0$$

$$\int \left(1 + \frac{1}{t^2-1}\right) dt + \int \left(1 + \frac{1}{z^2-1}\right) dz = 0$$

$$t + \frac{1}{2} \ln\left(\frac{t-1}{t+1}\right) + z + \frac{1}{2} \ln\left(\frac{z-1}{z+1}\right) = c$$

$$\sqrt{1+x^2} + \frac{1}{2} \ln\left(\frac{\sqrt{1+x^2}-1}{\sqrt{1+x^2}+1}\right) + \sqrt{1+y^2} + \frac{1}{2} \ln\left(\frac{\sqrt{1+y^2}-1}{\sqrt{1+y^2}+1}\right) = c$$

## Exercise # 9.3

$$(x-y) dx + (x+y) dy = 0$$

$$(x+y) dy = -(x-y) dx$$

$$\frac{dy}{dx} = \frac{y-x}{x+y} \quad \text{--- i}$$

Put  $y = vx$  --- ii

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- iii}$$

using ii, iii, & i

$$v + x \frac{dv}{dx} = \frac{vx-x}{x+vx}$$

$$x \frac{dv}{dx} = \frac{x(v-1)}{x(v+1)} - v \Rightarrow \frac{x^2-1-x^2-v^2}{1+v}$$

$$x \frac{dv}{dx} = - \frac{(v^2+1)}{1+v}$$

$$\int \frac{v+1}{v^2+1} dv = - \int \frac{1}{x} dx$$

$$\frac{1}{2} \int \frac{2v dv}{v^2+1} + \int \frac{dv}{v^2+1} = - \int \frac{dx}{x}$$

$$\frac{1}{2} \ln(v^2+1) + \tan^{-1} v = -\ln x + c$$

$$\ln(v^2+1)^{1/2} + \tan^{-1} v + \ln x = c \Rightarrow \ln \sqrt{\frac{y^2}{x^2} + 1} + \tan^{-1} \frac{y}{x} + \ln x = c$$

$$\ln \sqrt{y^2+x^2} - \ln \sqrt{x^2} + \tan^{-1} \frac{y}{x} + \ln x = c$$

$$\ln \sqrt{y^2+x^2} + \tan^{-1} \frac{y}{x} = c \quad \underline{\underline{Ans}}$$

**2**  $(x^2 - 3y^2)dx + 2xy dy = 0$

$$2xy dy = - (x^2 - 3y^2) dx$$

$$\frac{dy}{dx} = \frac{3y^2 - x^2}{2xy} \quad \text{--- i}$$

put  $y = vx$ , using ii, iii in i

$$v + x \frac{dv}{dx} = \frac{3v^2 x^2 - x^2}{2x vx}$$

$$x \frac{dv}{dx} = \frac{(3v^2 - 1) \cancel{x^2}}{2vx^2} - v, \quad x \frac{dv}{dx} = \frac{3v^2 - 1 - 2v^2}{2v}$$

$$x \frac{dv}{dx} = \frac{v^2 - 1}{2v}, \quad \int \frac{2v}{v^2 - 1} dv = \int \frac{dx}{x}$$



$$\ln(\sqrt{x^2-1}) = \ln x + \ln c$$

$$\ln\left(\frac{y^2}{x^2} - 1\right) = \ln cx$$

$$\frac{y^2 - x^2}{x^2} = cx$$

$$y^2 - x^2 = (cx) x^2 \quad \underline{\text{Ans}}$$

3

$$(x^2 + xy + y^2) dx - x^2 dy = 0$$

$$(x^2 + xy + y^2) dx = x^2 dy$$

$$\frac{dy}{dx} = \frac{x^2 + xy + y^2}{x^2} \quad \text{--- i}$$

$$\text{Put } y = vx \quad \text{--- ii}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- iii}$$

using ii, iii in i

$$v + x \frac{dv}{dx} = \frac{x^2 + x(vx) + v^2 x^2}{x^2}$$

$$x \frac{dv}{dx} = \frac{(1 + v + v^2) x^2}{x^2} - v$$

$$\int \frac{dv}{1+v^2} = \int \frac{dx}{x}$$

$$\tan^{-1} v = \ln x + c$$

$$\tan^{-1} \frac{y}{x} = \ln x + c \quad \underline{\text{Ans}}$$

4

$$x \sin\left(\frac{y}{x}\right) dy = \left(y \sin \frac{y}{x} - x\right) dx$$

$$\frac{dy}{dx} = \frac{y \sin \frac{y}{x} - x}{x \sin\left(\frac{y}{x}\right)} \quad \text{--- i}$$

Put  $y = vx$  --- ii

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- iii}$$

using ii, iii in i

$$v + x \frac{dv}{dx} = \frac{vx \sin \frac{vx}{x} - x}{x \sin \frac{vx}{x}}$$

$$x \frac{dv}{dx} = \frac{x(v \sin v - 1)}{x \sin v} - v$$

$$x \frac{dv}{dx} = \frac{v \sin v - 1 - v \sin v}{\sin v}$$

$$\int \sin v \, dv = - \int \frac{1}{x} \, dx$$

$$-\cos v = -\ln x + c, \quad \cos v = \ln x - c$$

$$\cos \frac{y}{x} = \ln x - c \quad \underline{\text{Ans}}$$

5.

$$\frac{dy}{dx} = \frac{x+y}{x} \quad \text{--- i}$$

$$y(1) = 1$$

Put  $y = vx$  --- ii,  $\frac{dy}{dx} = v + x \frac{dv}{dx}$  --- iii

using ii, iii in i

$$v + x \frac{dv}{dx} = \frac{x+vx}{x}, \Rightarrow x \frac{dv}{dx} = \frac{x(1+v)}{x} - v$$

$$x \frac{dv}{dx} = 1 \Rightarrow \int dv = \int \frac{dx}{x}$$

$$v = \ln x + c, \quad \frac{y}{x} = \ln x + c \quad \underline{\text{Ans}}$$

6  $(3x^2 + 9xy + 5y^2) dx - (6x^2 + 4xy) dy = 0$ ,  $y(2) = -6$

$$(6x^2 + 4xy) dy = (3x^2 + 9xy + 5y^2) dx$$

$$\frac{dy}{dx} = \frac{3x^2 + 9xy + 5y^2}{6x^2 + 4xy} \quad \text{--- i}$$

put  $y = vx$ , --- ii  $\frac{dy}{dx} = v + x \frac{dv}{dx}$  --- iii

using ii & iii in i

$$v + x \frac{dv}{dx} = \frac{3x^2 + 9xvx + 5v^2x^2}{6x^2 + 4xvx}$$

$$x \frac{dv}{dx} = \frac{x^2(3 + 9v + 5v^2) - v(6 + 4v)}{x^2(6 + 4v)}$$

$$x \frac{dv}{dx} = \frac{3 + 9v + 5v^2 - 6v - 4v^2}{6 + 4v}$$

$$x \frac{dv}{dx} = \frac{v^2 + 3v + 3}{6 + 4v}$$

$$\int \frac{4v+6}{v^2+3v+3} dv = \int \frac{dx}{x}, \Rightarrow 2 \int \frac{2v+3}{v^2+3v+3} dv = \int \frac{dx}{x}$$

$$2 \ln(v^2+3v+3) = \ln x + C, \Rightarrow \ln(v^2+3v+3)^2 = \ln x + C$$

$$(v^2+3v+3)^2 = cx \Rightarrow \left(\frac{y}{x} + 3\frac{y}{x} + 3\right)^2 = cx$$

$$\frac{(y^2 + 3yx + 3x^2)^2}{x^2} = \sqrt{cx}$$

$$y^2 + 3yx + 3x^2 = x^2 \sqrt{cx} \quad \because y(2) = 6$$

$$\frac{12}{4} = \sqrt{2c}$$

$$3^2 = 2c \Rightarrow 3x^2 + 3xy + y^2 = x^2 \sqrt{\frac{9}{2}} x$$

$$3x^2 + 3xy + y^2 = \frac{9}{\sqrt{2}} x^{2+\frac{1}{2}}$$

$$\sqrt{2}(3x^2 + 3xy + y^2) = 9x^{5/2}$$

$$2(3x^2 + 3xy + y^2) = 9x^5$$

$$\boxed{C = \frac{9}{\sqrt{2}}}$$

$$v = \ln x + C, \quad \frac{y}{x} = \ln x + C$$

$$\underline{7} \quad \frac{dy}{dx} = \frac{5y-2x}{4x-y} \quad \text{--- i}$$

$$\text{put } y = vx \text{ --- ii} \quad \frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- iii}$$

using ii & iii in i

$$v + x \frac{dv}{dx} = \frac{5vx - 2x}{4x - vx}$$

$$\begin{aligned} v + x \frac{dv}{dx} &= \frac{5vx - 2x}{4x - vx} \\ &= \frac{x(5v - 2)}{x(4 - v)} \quad \text{--- v} \end{aligned}$$

$$x \frac{dv}{dx} = \frac{5v - 2 - 4v + v^2}{4 - v} \Rightarrow x \frac{dv}{dx} = \frac{v^2 + v - 2}{4 - v}$$

$$\int \frac{4 - v}{v^2 + v - 2} dv = \int \frac{dx}{x}$$

By partial fraction

$$\int \frac{4 - v}{(v - 1)(v + 2)} dv = \int \frac{dx}{x}$$

$$\int \left( \frac{dv}{v - 1} - \frac{2}{v + 2} \right) dv = \int \frac{dx}{x}$$

$$\ln(v - 1) - 2 \ln(v + 2) = \ln x + \ln c$$

$$\Rightarrow \ln \frac{v - 1}{(v + 2)^2} = \ln cx$$

Applying  $\frac{y - x}{x} = cx,$

$$\frac{\frac{y}{x} - 1}{\left(\frac{y}{x} + 2\right)^2} = cx,$$

$$\frac{y - x}{x(y + 2x)^2} = c$$

$$12(y - x) = (y + 2x)^2 \quad \text{Ans}$$

$$v = \ln x + C, \quad \frac{y}{x} = \ln x + C$$

$$\therefore y' = 4$$

$$\frac{4 - 1}{(4 + 2)^2} = c$$

$$\frac{3}{36} = \frac{1}{12}$$

# Exercise # 9.4

1.  $(3x^2 + 4xy)dx + (2x^2 + 2y)dy = 0$

Let  $M = 3x^2 + 4xy$  ,  $N = 2x^2 + 2y$

$$\frac{\partial M}{\partial y} = 0 + 4x \quad , \quad \frac{\partial N}{\partial x} = 4x + 0$$

$$\therefore \frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \text{so given Biff Eq}$$

Now  $\int M dx + \int (\text{term of } N \text{ from } x) dy = C$

$$\int (3x^2 + 4xy) dx + \int 2y dy = C$$

$$\frac{3x^3}{3} + \frac{4x^2 y}{2} + \frac{2y^2}{2} = C$$

$$x^3 + 2x^2 y + y^2 = C \text{ Ans}$$

2

$$(2xy + y - \tan y)dx + (x^2 + x \tan^2 y + \sec^2 y)dy = 0$$

$$M = 2xy + y - \tan y \quad , \quad N = x^2 + x \tan^2 y + \sec^2 y$$

$$\frac{\partial M}{\partial y} = 2x + 1 - \sec^2 y \quad , \quad \frac{\partial N}{\partial x} = 2x + \tan^2 y + 0$$
$$= 2x + \tan^2 y$$

$$\therefore \frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int M dx + \int (\text{term of } N \text{ from } x) dy = C$$

$$\int (2xy + y - \tan y) dx + \int \sec^2 y dy = C$$

$$\frac{2x^2 y}{2} + xy - x \tan y + \tan y = C$$

$$x^2 y + xy - x \tan y + \tan y = C \text{ Ans}$$

$$\ln x + C \quad , \quad \frac{y}{2} = \ln x$$

3

$$\left(\frac{x+y}{y-1}\right) dx - \frac{1}{2} \left(\frac{x+1}{y-1}\right)^2 dy = 0$$

$$M = \frac{x+y}{y-1}, \quad N = -\frac{1}{2} \left(\frac{x+1}{y-1}\right)^2$$

$$N = -\frac{1}{2} \frac{x^2 + 2x + 1}{(y-1)^2}$$

$$\frac{\partial M}{\partial y} = \frac{(y-1)(1) - (x+y)(1)}{(y-1)^2}, \quad \frac{\partial N}{\partial x} = \frac{-(2x+2)}{2(y-1)^2}$$

$$= \frac{y-1-x-1}{(y-1)^2}, \quad = \frac{-x-1}{(y-1)^2}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \therefore \text{given diff is Exact}$$

$$\int M dx + \int (\text{term of } N \text{ from } x) dy = c$$

$$\int \left(\frac{x+y}{y-1}\right) dx + \int -\frac{1}{2} \frac{1}{(y-1)^2} dy = c$$

$$\left(\frac{1}{y-1}\right) \int (x+y) dx + \left(-\frac{1}{2}\right) \int (y-1)^{-2} dy = c$$

$$\left(\frac{1}{y-1}\right) \left(\frac{x^2}{2} + xy\right) + \left(-\frac{1}{2}\right) \left(-\frac{1}{y-1}\right) = c$$

$$\frac{x^2 + 2xy}{2(y-1)} + \frac{1}{2(y-1)} = c$$

$$x^2 + 2xy + 1 = c'(y-1) \quad \underline{\text{Ans}}$$

4

$$\frac{dy}{dx} = -\left(\frac{ax+by}{hx+by}\right)$$

$$(hx+by) dy = -(ax+by) dx$$

$$(ax+by) dx + (hx+by) dy = 0$$

$$M = ax+by \quad N = hx+by$$

$$\frac{\partial M}{\partial y} = 0+h$$

$$\frac{\partial N}{\partial x} = h$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \text{Hence: Exact Diff Eq.}$$

$$V = \ln x + C, \quad \frac{y}{2} = \ln x + \dots$$

$$\int (ax + by) dx + \int by dy = C$$

$$\frac{ax^2}{2} + hxy + \frac{by^2}{2} = C$$

$$ax^2 + 2hxy + by^2 = 2C \quad \text{Ans}$$

5

$$(1 + \ln xy) dx + (1 + \frac{x}{y}) dy = 0$$

$$M = 1 + \ln xy \quad N = 1 + \frac{x}{y}$$

$$\frac{\partial M}{\partial y} = 0 + \frac{1}{xy} \cdot x \quad , \quad \frac{\partial N}{\partial x} = 0 + \frac{1}{y}$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \text{Exact Diff eq.}$$

$$\int M dx + \int (\text{term of } N \text{ from } x) dy = C$$

$$\int (1 + \ln xy) + \int 1 \cdot dy = C$$

$$\int dx + \int 1 \ln xy dx + \int dy = C$$

$$x + x \ln xy - \int dx + y = C$$

$$x + x \ln xy - x + y = C$$

$$x \ln xy + y = C \quad \text{Ans}$$

6

$$(6xy + 2y^2 - 5) dx + (3x^2 + 4xy - 6) dy = 0$$

$$M = 6xy + 2y^2 - 5 \quad , \quad N = 3x^2 + 4xy - 6$$

$$\frac{\partial M}{\partial y} = 6x + 4y \quad \frac{\partial N}{\partial x} = 6x + 4y$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \text{Hence Exact Diff eq.}$$

$$\int M dx + \int (\text{term of } N \text{ from } x) dy = 0$$

$$(6xy + 2y^2 - 5)dx + \int -6 dy = C$$

$$\frac{6x^2y}{2} + 2xy^2 - 5x - 6y = C$$

$$3x^2y + 2xy^2 - 5x - 6y = C \quad \underline{\text{Ans}}$$

7

$$(y \sec^2 x + \sec x \tan x) dx + (\tan x + 2y) dy = 0$$

$$M = y \sec^2 x + \sec x \tan x \quad N = \tan x + 2y$$

$$\frac{\partial M}{\partial y} = \sec^2 x$$

$$\frac{\partial N}{\partial x} = \sec^2 x$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$$

$$\int M dx + \int (\text{term of } N \text{ from } x) dy = C$$

$$\int (y \sec^2 x + \sec x \tan x) dx + \int 2y dy = C$$

$$y \tan x + \sec x + y^2 = C = \underline{\text{Ans}}$$

8.

$$(y \cos x + 2x e^x) dx + (\sin x + x^2 e^y - 1) dy = 0$$

$$M = y \cos x + 2x e^x, \quad N = \sin x + x^2 e^y - 1$$

$$\frac{\partial M}{\partial y} = \cos x + 2x e^x, \quad \frac{\partial N}{\partial x} = \cos x + 2x e^x$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} \quad \text{Hence Exact Diff.}$$

$$\int M dx + \int (\text{term of } N \text{ free from } x) dy = C$$

$$(y \cos x + 2x e^x) dx + \int -1 dy = C$$

$$y \sin x + \frac{2x^2 e^x}{2} - y = C$$

$$y \sin x + x^2 e^x - y = C \quad \underline{\text{Ans}}$$



# Exercise # 9.5

1.

$$(x^2 + x - y) dx + x dy = 0$$

$$M = x^2 + x - y, \quad N = x$$

$$M_y = -1, \quad N_x = 1$$

$M_y \neq N_x$  Non Exact Diff Equation.

$$\frac{M_y - N_x}{N} = \frac{-1 - 1}{x} = -\frac{2}{x} \text{ of } x \text{ alone}$$

$$\therefore I.f = e^{\int -\frac{2}{x} dx} = e^{-2 \ln x} = e^{\ln x^{-2}}$$

$$= x^{-2} \Rightarrow \frac{1}{x^2}$$

Multiplying both sides of eq (1) by  $I.f = \frac{1}{x^2}$

$$\frac{1}{x^2} (x^2 + x - y) dx + \frac{x}{x^2} dy = 0$$

$$\left(1 + \frac{1}{x} - \frac{y}{x^2}\right) dx + \frac{1}{x} dy = 0 \quad \text{--- (1)}$$

$$\text{Now } M = 1 + \frac{1}{x} - \frac{y}{x^2} \quad N = \frac{1}{x}$$

$$M_y = -\frac{1}{x^2}, \quad N_x = -\frac{1}{x^2}$$

$M_y = N_x$  now Exact eq.

$$\int M dx + \int (\text{term of } N \text{ free from } x) dy = 0$$

$$\int \left(1 + \frac{1}{x} - \frac{y}{x^2}\right) dx + \text{Nil} = C$$

$$x + \ln x + \frac{y}{x} = C \quad \text{Ans}$$

2.  $dy + \left(\frac{y - \sin x}{x}\right) dx = 0$

$$M = \frac{y - \sin x}{x}, \quad N = 1$$

$$M_y = \frac{1}{x} - 0 \quad N_x = 0$$

$M_y \neq N_x$  is non Exact Diff eq.

$$\text{Now } \frac{M_y - N_x}{N} = \frac{\frac{1}{x} - 0}{1} = \frac{1}{x}$$

$$\text{I.f} = \int \frac{1}{x} dx = e^{\ln x} = x \checkmark$$

'Xing' both sides of eq (1) by I.f = x

$$x dy + \frac{x(y - \sin x)}{x} dx = 0$$

$$M = y - \sin x \quad N = x$$

$$M_y = 1 \quad N_x = 1$$

$M_y = N_x$  Exact Diff eq.

$$\int M dx + \int (\text{term of } x) dy = 0$$

$$\int (y - \sin x) dx = C$$

$$xy + \cos x = C \underline{\underline{Ans}}$$

3.

$$(x^2 + y^2 + 2x) dx + 2y dy = 0 \quad - i$$

$$M = x^2 + y^2 + 2x \quad N = 2y$$

$$M_y = 2y \quad N_x = 0$$

$M_y \neq N_x$  is non Exact Diff Equation

$$\frac{N_x - M_y}{M} = \frac{0 - 2y}{x^2 + 2x} = -\frac{2y}{x(x+2)}$$

Not of  $x$  or  $y$  only

$$\frac{M_y - N_x}{N} = \frac{2y - 0}{2y} = 1 = x^0 \text{ fn of } x \text{ only}$$

$$\text{I.F} = \int 1 \cdot dx = e^x$$

Multiplying both sides of eq (1) by I.F =  $e^x$

$$e^x (x^2 + y^2 + 2x) + e^x (2y) dy = 0 \quad \text{--- (1)}$$

$$M = e^x (x^2 + y^2 + 2x) \quad N = e^x 2y$$

$$M_y = e^x 2y \quad N_x = e^x 2y$$

$$M_y = N_x \quad \text{Exact Diff Eq.}$$

$$\int e^x (x^2 + y^2 + 2x) dx + \text{Nil} = C$$

$$\int e^x x^2 dx + \int e^x y^2 dx + \int e^x 2x dx = C$$

$$x^2 e^x - \int 2x e^x dx + e^x y^2 + \int e^x 2x dx = C$$

$$(x^2 + y^2) e^x = C \quad \underline{\text{ANS}}$$

4.  $(x^2 + y^2) dx - 2xy dy = 0 \quad \text{--- (1)}$

$$M = x^2 + y^2 \quad N = -2xy$$

$$M_y = 2y \quad N_x = -2y$$

$$M_y \neq N_x \quad \therefore (1) \text{ is Non Exact Diff Eq.}$$

$$\frac{N_x - M_y}{M} = -\frac{2y - 2y}{x^2 + y^2} \quad \text{not for } y \text{ only}$$

$$\frac{M_y - N_x}{N} = \frac{2y + 2y}{-2xy} = \frac{4y}{-2xy} = -\frac{2}{x} \quad \text{for } x \text{ only.}$$

$$\text{I.F.} = e^{\int -\frac{2}{x} dx} = e^{-2 \ln x} = e^{\ln x^{-2}} = e^{-2} = \frac{1}{x^2} \checkmark$$

Multiplying both sides of eq (1) by I.F. =  $\frac{1}{x^2}$

$$\frac{1}{x^2} (x^2 + y^2) dx - \frac{1}{x^2} (2xy) dy = 0$$

$$\left(1 + \frac{y^2}{x^2}\right) dx - \frac{2y}{x} dy = 0 \quad \text{--- (1)}$$

$$M = 1 + \frac{y^2}{x^2} \quad N = -\frac{2y}{x}$$

$$M_y = \frac{2y}{x^2} \quad N_x = \frac{2y}{x^2}$$

$$M_y = N_x \quad \text{Exact Diff eq.}$$

$$\int M dx + \int (\text{term of } N \text{ f } x) dy = 0$$

$$\int \left(1 + \frac{y^2}{x^2}\right) dx + Nil = C$$

$$x - \frac{y^2}{x} = C \quad \text{Ans}$$

5.  $(4x + 3y^2) dx + 2xy dy = 0$

$$M = 4x + 3y^2 \quad N = 2xy$$

$$M_y = 0 + 6y \quad N_x = 2y$$

$$M_y = N_x \quad \therefore$$

$$\frac{N_x - M_y}{M} = \frac{2y - 6y}{4x + 3y^2}$$

$$\frac{M_y - N_x}{N} = \frac{6y - 2y}{2xy} = \frac{4y}{2xy} = \frac{2}{x}$$

$$(4x^3 + 3y^2 x^2) dx + (3x^3 y) dy = 0$$

$$M_y = 6yx^2 \quad N_x = 6x^2y$$

$$M_y = N_x \quad \text{Exact Diff eq.}$$

$$\int M dx + \int (\text{term of } N \text{ from } x) dy = 0$$

$$\int (4x^3 + 3y^2 x^2) dx + Nil = C$$

$$\frac{4x^4}{4} + \frac{3y^2 x^3}{3} = C$$

$$x^4 + y^2 x^3 = C \quad \text{Ans}$$

6.

$$(3xy + y^2) dx + (x^2 + xy) dy = 0 \quad -i$$

$$M = 3xy + y^2$$

$$N = x^2 + xy$$

$$M_y = 3x + 2y$$

$$N_x = 2x + y$$

$$M_y \neq N_x$$

$$\frac{M_x - M_y}{M} = \frac{2x + y - 3x + 2y}{3xy + y^2} = \frac{-x + 3y}{y(3x + y)} \quad \text{Not for } y$$

$$\frac{M_y - N_x}{N} = \frac{3x + 2y - 2x - y}{x^2 + xy} = \frac{x + y}{x(x + y)} = \frac{1}{x}$$

$$I.f = e^{\int \frac{1}{x} dx} = e^{\ln x} = x$$

$$\text{Multiplying by } x \text{ (1) } \Rightarrow I.f = x$$

$$M = 3x^2 + xy^2 \quad N = x^3 + x^2y$$

$$M_y = 3x^2 + 2xy$$

$$N_x = 3x^2 + 2xy$$

$$M_y = N_x \quad \text{is Exact eq.}$$

$$\int M dx + \int (\text{term of } N) dy = C$$

$$(3x^2y + xy^2) dx + \text{Nil} = C$$

$$\frac{3x^3y}{3} + \frac{x^2y^2}{2} = C$$

$$x^3y + \frac{x^2y^2}{2} = C \quad \text{Ans}$$

# Exercise # 9.6.

1.  $\frac{dy}{dx} + \left(\frac{2x+1}{x}\right)y = e^{-2x}$

I.F  $\int P dx = \int \left(\frac{2x+1}{x}\right) dx = \int \left(2 + \frac{1}{x}\right) dx$

$$= e^{2x + \ln x} = e^{2x} e^{\ln x} = e^{2x} x$$

sol is given by  $\int d(Y \times \text{I.F.}) = \int Q \times \text{I.F.} dx$

$$\Rightarrow \int d(Y e^{2x} x) = \int e^{-2x} e^{2x} x dx + C$$

$$\int Y e^{2x} x = \int x dx + C$$

$$= x y e^{2x} = \frac{x^2}{2} + C \quad \underline{\text{Ans}}$$

2.

$$\frac{dy}{dx} + \frac{3}{x} y = 6x^2$$

$$\text{I.F.} = e^{\int P dx} = e^{\frac{3}{x} dx} = e^{3 \ln x} = e^{\ln x^3} = x^3 \checkmark$$

$$\Rightarrow \int d(Y x^3) = \int 6x^2 \cdot x dx + C$$

$$\Rightarrow Y x^3 = \int 6x^5 dx + C$$

$$\Rightarrow Y x^3 = \frac{6x^6}{6} + C$$

$$\Rightarrow x^3 y = x^6 + C \quad \checkmark \quad \underline{\text{Ans}}$$

3.

$$\frac{dy}{dx} + \frac{y}{x \ln x} = \frac{3x^2}{\ln x} \quad (\text{LDE in } y)$$

$$\text{I.F.} = e^{\int P dx} = \int \frac{1}{x \ln x} = \int \frac{dx}{x \ln x}$$

$$\text{I.F.} = e^{\ln(\ln x)} = \ln x \quad \checkmark$$

$$\Rightarrow \int d(Y \ln x) = \int \frac{3x^2}{\ln x} \ln x dx + C$$

$$Y \ln x = \frac{3x^3}{3} + C, \quad Y = \frac{x^3 + C}{\ln x} \quad \underline{\text{Ans}}$$

4.  $\frac{dy}{dx} + 3y = 3x^2 e^{-3x}$  (LDE in y)

I.F  $e^{\int 3 dx} = e^{3x}$

sol is given by  $\int d(y \times I.F) = \int Q \times I.F dx + c$

$\Rightarrow \int d(y e^{3x}) = \int 3x^2 e^{-3x} e^{3x} dx + c$

$y e^{3x} = x^3 + c$

$y = e^{-3x} (x^3 + c)$  Ans

5.  $(x+1) \frac{dy}{dx} - ny = e^x (x+1)^{n+1}$

$\frac{dy}{dx} - \frac{n}{x+1} y = e^x (x+1)^n = e^{\ln(x+1)^{-n}}$

I.F =  $(x+1)^{-n} = \frac{1}{(x+1)^n}$

$\Rightarrow \int d(y \cdot \frac{1}{(x+1)^n}) = \int e^x (x+1)^n \frac{1}{(x+1)^n} dx + c$

$\frac{y}{(x+1)^n} = e^x + c$

$y = (e^x + c)(x+1)^n$  Ans

6.  $(x^2+1) \frac{dy}{dx} + 2xy = 4x^2$

$\frac{dy}{dx} + (\frac{2x}{x^2+1}) y = \frac{4x^2}{x^2+1}$

I.F =  $e^{\int (\frac{2x}{x^2+1}) dx} = e^{\ln(x^2+1)} = x^2+1$

$\Rightarrow \int d[y(x^2+1)] = \int \frac{4x^2}{(x^2+1)} (x^2+1) dx + c$

$y(x^2+1) = \frac{4x^3}{3} + c$

$3y(x^2+1) = 4x^3 + c'$  Ans

7.

$$\frac{dy}{dx} = \frac{1}{e^y - x}$$

$$\frac{dx}{dy} = e^y - x \quad \text{Reciprocal}$$

$$\frac{dx}{dy} + x = e^y \quad (\text{LDE in } x)$$

$$\text{I.F} = e^{\int 1 \cdot dy} = e^y$$

$$\text{sol is given } \int d(x \cdot \text{I.F}) = \int Q \cdot \text{I.F} \cdot dy + c$$

$$\Rightarrow \int d(xe^y) = \int e^y e^y dy + c$$

$$\Rightarrow xe^y = \int e^{2y} dy + c$$

$$x = \frac{1}{e^y} \left( \frac{e^{2y}}{2} + c \right)$$

$$x = \frac{e^y}{2} + ce^{-y} \quad \underline{\text{Ans}}$$

8.

$$x \frac{dy}{dx} + 2y = \sin x$$

$$\frac{dy}{dx} + \frac{2}{x} y = \frac{\sin x}{x} \quad \text{LDE in } y$$

$$\text{IF} = e^{\int p dx} = e^{\int \frac{2}{x} dx} = e^{2 \ln x} = e^{\ln x^2} = x^2 \checkmark$$

$$\text{sol is given by } \int d(y \cdot \text{I.F}) = \int (Q \cdot \text{I.F}) dx + c$$

$$\Rightarrow \int d(yx^2) = \int \frac{\sin x}{x} x^2 dx + c$$

$$yx^2 = \int x \sin x dx + c$$

$$yx^2 = x(-\cos x) - \int 1 \cdot (-\cos x) dx + c$$

$$y = \frac{1}{x^2} (-\cos x + \sin x + c) \quad \underline{\text{Ans}}$$

$$V = \ln x + c, \quad \frac{y}{2} = \ln x + c$$